L1
2) 2+9-4=3
3) 1-3=-2

(3x3)=-9

o1

2) 9B+ 6=4 (eachterm multiplied by 18)
9B=-2
B=-2/9

3) 3Y+100= 430 (each term multiplied by 100)

3Y-330
Y=110

. B

IV. 1) associative
2) distributive
2) commutative

V. onthe graph

#1

S n f #2

R "

Vi

VI. Y=-2X-3, m=-2, yintercept=-3
see graph
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Vil. M=3D-2
VIil. 1) permpendicular slope is -1/3
(1)_-1/3(2)+b
1=-213+
§B=0 ,
Y=-1/3X+5/3 = X+3Y=5
see araph
Y = 3%
55
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(4)=-32(0)+b
4=b

Y=-3R2X+4 or 3X+2Y=8

X. a,b,and
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b) m
c) m
d m
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1) 52+3 = 55
2) -3:-3-3=-27

—

2_ or o

-2
4) 310-2-38 (z >
5) A2+1B3+4 = A3B7

6) 3X+2
X-1
-3X - 2
3X2 + 2X
3X2 - X -2
.05N +.10D = 1.10
5N + 10D = 110
-5N - 5D = -80
5D= 30
D=6
1) using elimination
22X -Y=-1) = 4X-2Y=-2

N+D=16

N+ (6) = 16
N=10

2Y=_€
2Y= 6 4X =4
Y= 3 X=1
(1,3)

2) using substitution
2X-1)-3=X+2
2X-4=X+2 26)-1=Y
X=6 11=Y

(6,11)
2(N)+1_N+4
N-N=4-1
N 3 3,57

1) 2(X2 + 14)
2) 2(X2+4X+3)=
3) (3X+4)(X+5)
2Y <4X-8
Y=2X-4

2X + 3)(X + 1)

> <

2(0) s 4(0) - 8 v
0<-8 false

2(-3)s4(4) -8
-6< 8 true

.

Unit Test 1l
.............. 2X+ 1 2X+1
Dxs2[2x248%+2 _X+2
- (2X2 + 4X) 4X + 2
Ka2 2N
- (X+2) 2X2 + 5X + 2
X2 45X + 1 X2 +5X + 1
2 x-2[xB+ax2-9x.2 X2
-(x3-2x2) -2X2 - 10X -2
—Qgi-é—-gx X3+5X2+ X
£ 3 2 .9X -
- (6X2 - 10%) X3 +3X2-9X -2
X2

X-2

1) 3(x2-4)
2) (Q-R)(Q+R)

=3(X-2)(X+2)

3) 2(X2-2X- 15) = 2(X + 3)(X - 5)

1) X24+5X+6=0 (22 +5(-2) +6=0

(X+2)(X+3)=0 4-10+6=0
X=-2, X=3 0=0
(-3)2 +5(-3) +6=0
9-15+6=0
0=0
2) 2X(X2-9)=0 2(0)3- 18(0) = 0
2X(X - 3)(X +3) =0 0=0
X=0, X=3, X=-3 2(3)3-18(3)=0
54-54=0
0=0
2(-3)3 - 18(-3) = 0
-54 +54 =0
0=0
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continued on next page i




